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d2se vs P, 2Repilde signal
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dZ2se vs p_: 2Repilde bkga

500 1000 1500 2000 2500 3000 3500 4000 0

P, (MeV/c)




Wall: 2Repi

0.7

0.6

_*_

0.5

—
—

0.4

——
——
_-_

0.3

—
_*_
-
-
—

0.2

|""|""|""|"+*¢""|'[L;l'
—

i'_i- +
I 1 'i-
" -

0.1

¢
-

--0--9-0-0-9

TR

'.'_._-.-.'_.__.__

0||||||||||||||++fq:.'|'0+'91-

-0-...-0—_._ '_*_u ._*_

o

200 400 600

-l.__.

= pbkgd
--signal

800 1000 1200 1400 1600 1800 2000

Wall (cm)



Wall vs p.: 2Repl signal
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Wall vs P, 2Repli bkgd
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Wall: 2Repilde

= pbkgd
--signal

0.45

—
.

0.4

0.35
0.3
0.25
0.2
0.15

0.1

4
++‘Q‘-¢--¢- -+- | -+--*-
S e R e
e .
P S S o ® 7
0||||||||||||||||||||-|.--T-.|-_.1'i’"?'-g-__'-:"','

0 200 400 600 800 1000 1200 1400 1600 1800 2000
Wall (cm)

0.05

II¢I|I+III|IIII|IIII|IIII|IIII-|—I—*—I—#|IIII_|_IIii|I
—n




Wall vs p.: 2Repilde signal
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Wall vs p.: 2Repilde bkgd
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ToWall vs p.: 2Repl pil signa
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ToWall vs p.: 2Repli pi bkgo
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ToWall: 2Repilde e
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ToWall vs p.: 2Repilde e signal
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ToWall: 2Repilde pi
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ToWall vs p.: 2Repilde pi signa
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fgmrnll-fgmsnll vs p.: 2Repi signal
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fgmrnll-fgmsnll vs P, 2Repi bkgd
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fgmrnll-fgmsnll: 2Repilde
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fgmrnll-fgmsnll vs p,; 2Repilde signal
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fgmrnll-fgmsnll vs P, 2Repilde bkgd
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cosO: 2Repilde
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cosOvs E .: 2Repi signal
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cosOvs P, 2Repilde signal
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cosOvs p_: 2Repilde signal

cosBO
|_\

0.5

P (MeV/c)

_]0 500 1000 1500 2000 2500 3000 3500 4000

I0.05

—10.04

0.03

n

0.02

0.01

0



cosB vs p_: 2Repilde bkgd
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PP, 2Repl
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pg-p]T VS pg: 2Repi signal
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pg-pn VS pg: 2Repi bkgd
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PP, 2Repilde
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pg-p]T VS pg: 2Repilde signal
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pg-p)T VS pg: 2Repilde bkgd
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neut mode: 2Repi
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2Repi nll - 2Ree nll vs p,: 2Repi nue CClpi
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2Repi nll - 2Ree nll vs p,: 2Repi numu NC1pi0
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2Ree inv mass vs p,: 2Repi nue CClpi
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2Repi nll - 2Ree nll vs 2Ree inv mass: 2Repi nue CClpi
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2Repi nll - 2Ree nll vs 2Ree inv mass: 2Repi numu NC1pi0
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2Repi inv mass: 2Repi
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2Repi inv mass vs p 2Repi nue CClpi
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E res vs Wall: 2Repi nue CC1lpi
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E res vs Wall: 2Repi other
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E res vs Wall: 2Repilde nue CClpi
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